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The figures in the margin indicate full marks

for the questions

1. State whether the following statements are

True or False : 1×4=4

(a) An entrepreneur is the owner of the

enterprise.

(b) Entrepreneurship helps to reduce the

concentration of economic power.
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(c) EDP is required to help the existing

entrepreneurs.

(d) The development of entrepreneurship

means inculcating entrepreneurial

traits into a person.

2. Mention two main characteristics of an

entrepreneur. 2

3. State two differences between entrepreneur

and entrepreneurship. 2

4. What is the theory of transition cost? 2

5. Write two objectives of Entrepreneurship

Development Programme in India. 2

6. Write short notes on the following : 4×4=16

(a) Innovative entrepreneur

(b) The traits of entrepreneur

(c) Invisible cost theory

(d) The components of need for

achievement

7. (a) (i) Write a note on the theories of

entrepreneurial origin.

(ii) Make a critical evaluation of EDP in 

India. 6+6=12
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Or

(b) (i) Write two main functions of an

entrepreneur.

(ii) Discuss the role of Non-

Governmental Organizations for the 

development of rural entrepreneur-

ship in Assam.

(iii) Write a note on the historical origin

of entrepreneurship. 2+5+5=12
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